In accordance with Rule 18.6 of the Insolvency (England & Wales) Rules 2016.

# $\begin{array}{c} AM10 \\ \text{Notice of administrator's progress report} \end{array}$



For further information, please refer to our guidance at www.gov.uk/companieshouse

1	Company details	
Company number	0 4 1 2 6 4 3 5	→ Filling in this form Please complete in typescript or in
Company name in full	Telnet International Limited (in Administration)	bold black capitals.
		-
2	Administrator's name	
Full forename(s)	Jonathan Peter	
Surname	Sumpton	-
3	Administrator's address	
Building name/number	Ernst & Young LLP	
Street	12 Wellington Place	-
		-
Post town	Leeds	-
County/Region		-
Postcode	L S 1 4 A P	
Country	United Kingdom	-
4	Administrator's name •	
Full forename(s)	Timothy Graham	Other administrator Use this section to tell us about
Surname	Vance	another administrator.
5	Administrator's address <sup>®</sup>	
Building name/number	Ernst & Young LLP	<b>O</b> Other administrator
Street	12 Wellington Place	<ul> <li>Use this section to tell us about another administrator.</li> </ul>
		-
Post town	Leeds	-
County/Region		
Postcode	L S 1 4 A P	
Country	United Kingdom	-

AM10 Notice of administrator's progress report

6	Period of progress report	
From date	$ \begin{array}{c ccccccccccccccccccccccccccccccccccc$	
To date	$\begin{bmatrix} d & d & d \end{bmatrix} \begin{bmatrix} d & d & d \end{bmatrix} $	
7	Progress report	
	✓ I attach a copy of the progress report	
8	Sign and date	
Administrator's signature	Signature X	×
Signature date	$\begin{bmatrix} 0 & 0 & 0 \end{bmatrix}$ $\begin{bmatrix} 0 & 0 \end{bmatrix}$	

#### Presenter information

You do not have to give any contact information, but if you do it will help Companies House if there is a query on the form. The contact information you give will be visible to searchers of the public record.

Contact name Ayse Hassan
Company name Ernst & Young LLP
Address 2 St. Peter Square
Post town Manchester
County/Region
Postcode M 2 3 E Y
Country United Kingdom
DX
Telephone +44 16 1333 2761

#### 1

#### Checklist

We may return forms completed incorrectly or with information missing.

### Please make sure you have remembered the following:

- ☐ The company name and number match the information held on the public Register.
- ☐ You have attached the required documents.
- ☐ You have signed the form.

#### Important information

All information on this form will appear on the public record.

#### **☑** Where to send

You may return this form to any Companies House address, however for expediency we advise you to return it to the address below:

The Registrar of Companies, Companies House, Crown Way, Cardiff, Wales, CF14 3UZ. DX 33050 Cardiff.

#### *i* Further information

For further information please see the guidance notes on the website at www.gov.uk/companieshouse or email enquiries@companieshouse.gov.uk

This form is available in an alternative format. Please visit the forms page on the website at www.gov.uk/companieshouse



Ernst & Young LLP 12 Wellington Place Leeds LS1 4AP Tel: +44 113 298 2200 Fax: +44 113 298 2201 ey.com/parthenon

TO ALL KNOWN CREDITORS

07 May 2025

Ref: JS/AT/AH/OF/RIDG001 Email: ridgewallgroupadministration@uk.ey.com

Dear Sir or Madam

# Ridgewall Limited ("Ridgewall"), Connecting London Limited ("CLL"), Nomis Connections Limited ("Nomis"), QDOS SBL Limited ("QDOS") and Telnet International Limited ("Telnet") - All in Administration (together 'the Companies' or the "Group")

I write, in accordance with Rule 18.3 of the Insolvency (England and Wales) Rules 2016, to provide creditors with a report on the progress of the Administrations. This report covers the period from 9 October 2024 to 8 April 2025 and should be read in conjunction with the Joint Administrators' Statement of Proposals ("the Proposals") were delivered to creditors on 17 October 2024.

On 9 October 2024 the Companies entered Administration and Timothy G Vance and I were appointed as Joint Administrators. The appointment was made by the Companies Directors under the provisions of Paragraph 22(2) of Schedule B1 to the Insolvency Act 1986. As licensed insolvency practitioners, we are bound by the Insolvency Code of Ethics when carrying out all professional work relating to the Administration. Statutory information about the Companies, the Administrations and the office holders is given at Appendix 1.

#### **Approval of the Proposals**

As required by Paragraph 51 of Schedule B1 to the Insolvency Act 1986 and Rules 3.38 and 15.7 of the Insolvency Rules (England and Wales) 2016, the Joint Administrators sought approval of the Proposals from the Companies creditors by deemed consent. The Proposals were deemed approved on 29 October 2024.

#### Sale of Business and Assets

On 9 October 2024 the Joint Administrators completed a sale of the business and certain assets of the Companies to Innovaro Technology Limited ("the Purchaser") for a total consideration of £250,000, of which £150,000 was deferred consideration.

A detailed explanation of the transaction was sent to creditors on 17 October 2024 in accordance with SIP16.



#### **Deferred Consideration**

The Joint Administrators have agreed a payment plan with the Purchaser in relation to the deferred consideration whereby the full amount of £150,000 will be paid in five instalments, with the final instalment due on 31 July 2025. The first payment of £32,500 was received on 16 April 2025, which is outside of the Period and therefore is not included in the receipts and payments account at Appendix 2.

#### Significant assets not included in the sale of business and assets:

#### **Debtors**

The gross value of the trade debtors (c.£1.0m) comprises amounts due from certain of the Companies customers. Debtor collections to date total £586,253 as indicated below:

	Debtor Receipts £
QDOS	256,566
CLL	27,597
Ridgewall	238,305
Nomis	60,154
Telnet	3,631
	586,253

The Joint Administrators are working with the Purchaser to collect the remaining debtor balances. The level of future realisations is difficult to estimate at this stage and further updates will be provided in the Joint Administrators' next report.

#### Cash at bank

As noted in the Proposals the Companies held cash at bank on appointment. A total of £66,946 has been transferred into the Administration bank accounts in the Period, as indicated below and in the receipts and payments accounts at Appendix 2. The pre-appointment bank accounts remain open to enable debtor receipts to be paid into.

	Amounts received £
QDOS	19,955
CLL	21,239
Ridgewall	24,574
Telnet	1,178
	66,946



#### Bank Interest

Bank interest totalling £5,056 has been received in respect of funds held in the Administration bank accounts for the Companies during the Period as indicated below:

	Bank Interest £
QDOS	2,434
CLL	267
Ridgewall	2,099
Nomis	227
Telnet	29
	5,056

#### Other Matters progressed in the Period

#### **License to Occupy**

#### Gilmoora House, 57-61 Mortimer Street, London, W1W 8HS ("the Premises")

As previously reported in the Proposals, the Purchaser was granted a License to Occupy ("LTO") the Premises which was subject to a lease with Ridgewall. In accordance with the terms of the LTO, rent was payable by the Purchaser. During the Period rent and service charges totalling £3,950k have been paid by the Purchaser. The LTO came to an end during the Period.

#### **Receipts and Payments Accounts**

Details of specific receipts and payments received and incurred during the Period are shown at Appendix 2. Please note that these accounts do not reflect future estimated realisations or costs, including the Joint Administrators' remuneration and disbursements.

#### Investigations

We have concluded investigations into the Companies' affairs, in accordance with Statement of Insolvency Practice Number 2 (Investigations by Office Holders), and the Company Directors Disqualification Act 1986, with the necessary returns being made to the Insolvency Service on 11 December 2024. No third-party funding has been provided for these investigations.

#### **Joint Administrators' Remuneration**

The statutory provisions relating to remuneration are set out in Part 18 of the Insolvency (England and Wales) Rules 2016. Further information is given in the Association of Business Recovery Professionals' publication 'A Creditors' Guide to Administrators' Fees', a copy of which may be accessed from the web site of the Institute of Chartered Accountants in England and Wales at https://www.icaew.com/en/technical/insolvency/creditors-guides or is available in hard copy upon written request to me.

In certain circumstances, creditors are entitled to request further information about our remuneration or expenses, or to apply to court if they consider the costs to be excessive (Rules 18.9 and 18.34 of the Insolvency (England and Wales) Rules 2016). Further information is provided in 'A Creditors' Guide to Administrators' Fees' referred to above.

As creditors have not requisitioned a decision on the Proposals and a creditors' committee has not been formed, the Joint Administrators have sought approval for their remuneration from the Secured



and Preferential Creditors by written resolutions via a decision procedure which concluded 31 January 2025.

The Joint Administrators remuneration has been fixed on the basis of time properly given by them and their staff in dealing with matters arising in the Administration, in accordance with the fee estimates dated 17 October 2025 ("the Fee Estimates") which were circulated to creditors with the Proposals. We have agreed that the level of our remuneration in QDOS and CLL be restricted to 75% and 50% of the Fee Estimate respectively.

During the Period, the Joint Administrators have incurred time costs in respect of the Companies as set out in the table below. Details of remuneration drawn in the Period are also included below. An analysis of the time spent, and a comparison with the Fee Estimate is attached at Appendix 4 to this report.

	Costs incurred in the Period £	Remuneration paid in the Period £
QDOS	191,075	40,000
CLL	55,708	10,000
Ridgewall	252,368	40,000
Nomis	75,211	10,000
Telnet	48,312	Nil
	622,674	100,000

#### **Joint Administrators' Expenses**

During the Period, the Joint Administrators have paid expenses totalling £13,798 plus applicable VAT as set out below:

	Amount Paid in the Period £
QDOS	5,356
CLL	375
Ridgewall	6,045
Nomis	1,647
Telnet	375
	13,798

A full breakdown of these expenses is included at Appendix 3 to this report.

#### **Pre-Administration Costs**

The payment of unpaid pre-administration costs as an expense of the administration is subject to approval under Rule 3.52, and not part of the Proposals subject to approval under paragraph 53. This means that they must be approved separately from the Proposals.

Specific written approval for the payment of pre-administration costs was received from the secured and preferential creditors via a decision procedure concluding on 31 January 2025.



#### **Pre-Appointment Costs incurred by EY**

As previously reported prior to the insolvency appointment, the Joint Administrators undertook essential work to deliver the proposed sale of the business, incurring additional pre-administration fees totalling £84,192.

The Joint Administrators obtained approval to pay these costs and during the Period, pre-Administration costs totalling £70,823 plus VAT (where applicable), as shown in Appendix 3. Costs in relation to Telnet remain un-paid as there are insufficient asset realisations at this time.

#### Pre-appointment expenses incurred by EY

In addition to the above, the following third-party expenses have been incurred prior to our appointment:

#### Pre-appointment legal costs

Pinsent Masons LLP ("Pinsents") provided legal advice in connection with the appointment including preparing Administration appointment documentation and preparation of the sale agreement.

The Joint Administrators obtained approval to pay legal costs totalling £25,965 plus VAT (where applicable) across the five Companies. During the Period, Pinsents have been paid pre-Administration costs totalling £24,449 plus VAT (where applicable), as shown in Appendix 3.

Whilst pre-appointment costs paid in certain companies (Nomis, CLL & Telnet) have exceed the estimate provided in our Proposals by £88, the total costs paid are below the total estimated.

#### Pre-appointment Agents costs

Hilco Appraisal Limited ("Hilco") were instructed by the Joint Administrators to provide a recommendation regarding the offer received from the Purchaser to support the sale process negotiations. Hilco have unpaid pre-Administration costs of £5,000 plus VAT. Whilst these costs remain unpaid during the Period, it is the Joint Administrators' intention to pay these costs shortly.

#### **Distributions to Creditors**

#### Secured Creditors

At the date of appointment, CYB, the first ranking secured creditor, had total indebtedness of c.£6.2m. This amount is cross guaranteed by the Companies. In addition, there are secured loan notes which are cross guaranteed by the Companies in favour of Inflexion and previous shareholders which rank behind CYB and total c.£62.1m, which includes an element of accrued interest.

Based on current estimates, we anticipate that there will be a distribution to CYB as secured creditor in relation to their floating charge. However, both CYB and the loan note holders are expected to suffer a shortfall in relation to the above amounts.

#### **Preferential Creditors**

#### **Primary Preferential Creditors**

Claims from employees in respect of accrued but unpaid arrears of pay up to £800, accrued but unpaid holiday pay and certain pension benefits, rank preferentially and in priority to other preferential creditors (see below). These claims are therefore referred to as 'primary preferential creditors'.

All employees transferred to the purchaser under TUPE as a result of the sale to the Purchaser. Consequently, no employee related claims have been received.



#### Secondary Preferential Creditors

Claims from HMRC, in relation to VAT, PAYE and employees' National Insurance Contributions rank preferentially, but secondary to the employee primary preferential creditors above. These claims are therefore referred to as 'secondary preferential creditors'.

HMRC have provided secondary preferential creditor claims totalling c£2.04m, in respect of PAYE and VAT, as indicated below:

	Claim £
QDOS	366,390
CLL	33,089
Ridgewall	1,190,867
Nomis	401,283
Telnet	52,928
	2,044,557

Based on current estimates, we anticipate that there will be a distribution to HMRC as secondary preferential creditor in some of the Companies. We expect HMRC will suffer a shortfall against their secondary preferential claims. Further information in this regard will be provided in the Joint Administrators' future progress reports.

#### **Non-Preferential Creditors**

According to the Directors' Statement of Affairs dated 15 November 2024, the Group's total non-preferential unsecured claims (including intercompany balances) are estimated to be in the region of £47.3m as shown below:

Statem	ent of Affairs balances £
QDOS	3,642,686
CLL	999,027
Ridgewall	40,180,868
Nomis	2,267,412
Telnet	234,939
	47,324,932

Based on current estimates, it is unlikely that there will be sufficient realisations to enable a distribution to unsecured creditors in any of the Group Administrations and therefore no work in relation to the adjudication of non-preferential creditor claims has taken place. Further information on the Prescribed Part is provided below.

#### **Prescribed Part**

The prescribed part is a proportion of floating charge assets set aside for unsecured creditors pursuant to section 176A of the Insolvency Act 1986. The prescribed part applies to floating charges created on or after 15 September 2003.

The secured creditors' floating charges were created after 15 September 2003. Consequently, section 176A of the Insolvency Act 1986 will apply to these Administrations.

However, the Joint Administrators estimate, to the best of current knowledge and belief, that the value of the Companies net property will be £nil and therefore the value of the Prescribed Part will be £nil.



Accordingly, we currently do not expect there will be a distribution to the non-preferential creditors of the Companies via a Prescribed Part distribution. However, should additional funds become available to allow a distribution, we will report this to creditors in due course.

The Joint Administrators do not intend to make an application to the court under section 176A(5) of the Insolvency Act 1986 for an order not to distribute the prescribed part (as we estimate this to be nil).

#### **Remaining Work**

The Joint Administrators will continue to deal with the Administration of the Companies in line with the objectives of the Proposals, namely to achieve a better result for the Companies creditors as a whole than would be likely if the Companies were to be wound up (without first being in Administration).

Further tasks will include, but may not be limited to, the following:

- realisation of final debtor balances as already noted in this report;
- ensuring that any obligations of the Companies / Joint Administrators in the sale and purchase agreement with the Purchaser are satisfied;
- dealing with statutory reporting and compliance obligations;
- distributing amounts due to secured and preferential creditors;
- dealing with creditor enquiries;
- ► reviewing the Companies tax affairs and dealing with corporation tax, VAT and other tax matters which includes filing statutory returns;
- ▶ finalising the Administrations, including the payment of all Administration liabilities; and
- any other actions required to be undertaken by the Joint Administrators in order to fulfil the purpose of the Administrations.



#### **Next report**

We will report to you again at the conclusion of the Administrations or in six months' time, whichever is the sooner.

Yours faithfully for the Companies

J Sumpton Joint Administrator

Enclosed:

Appendix 1 Statutory Information

Appendix 2 Joint Administrators' Receipts and Payments Account for the Period

Appendix 3 Summary of Joint Administrators' Statement of Expenses incurred in the Period

Appendix 4 Summary of the Joint Administrators' Time Costs incurred in the Period

Appendix 5 Joint Administrators' Explanation of work in the Period

Appendix 6 Joint Administrators' charging policy for remuneration and expenses

Jonathan P Sumpton is licenced in the United Kingdom to act as an Insolvency Practitioner by The Insolvency Practitioners Association. Timothy G Vance is licenced in the United Kingdom to act as an Insolvency Practitioner by The Institute of Chartered Accountants of Scotland. As Insolvency Practitioners, they are bound by the Insolvency Code of Ethics in carrying out all professional work relating to the appointment.

The affairs, business and property of the Companies are being managed by the Joint Administrators, Jonathan P Sumpton and Timothy G Vance who act as agents of the Companies only and without personal liability.

The Joint Administrators may act as data controllers of personal data as defined by the UK General Data Protection Regulation (as incorporated in the Data Protection Act 2018), depending upon the specific processing activities undertaken. Ernst & Young LLP and/or the Companies may act as a data processor on the instructions of the Joint Administrators. Personal data will be kept secure and processed only for matters relating to the Joint Administrators' appointment. The Office Holder Data Privacy Notice can be found at www.ey.com/uk/officeholderprivacy.

### Information about the proceedings, the Company and the office holders, as required by Rule 18.3(1) of the Insolvency (England and Wales) Rules 2016

Name of court: High Court of Justice

Business and Properties Court, of England and Wales, Insolvency and Companies List (ChD)

Court reference: CR-2024-LDS-00987

Registered name of the Company: Ridgewall Limited

Registered office address of the Company: Ernst & Young LLP, 12 Wellington Place, Leeds,

LS1 4AP

Formerly:

Gilmoora House, 57-61 Mortimer Street, London

W1W 8HS

N/A

Registered number: 07175075

Country of incorporation (for a company

incorporated outside the United Kingdom):

Date of appointment of the joint administrators: 9 October 2024

Details of any changes of administrator: None

Full names of the Joint Administrators: Jonathan P Sumpton

Timothy G Vance

Office holder numbers: 9201 / 26170

Joint Administrators' address: Ernst & Young LLP, 12 Wellington Place, Leeds,

LS1 4AP

Email: ridgewallgroupadministration@uk.ey.com

Name of alternative person to contact with

enquiries about the case:

### Information about the proceedings, the Company and the office holders, as required by Rule 18.3(1) of the Insolvency (England and Wales) Rules 2016

Name of court: High Court of Justice

Business and Properties Court, of England and Wales, Insolvency and Companies List (ChD)

Court reference: CR-2024-LDS-00986

Registered name of the Company: QDOS SBL Group Limited

Registered office address of the Company: Ernst & Young LLP, 12 Wellington Place, Leeds,

LS1 4AP

Formerly:

Gilmoora House, 57-61 Mortimer Street, London

**W1W 8HS** 

N/A

Registered number: 11257239

Country of incorporation (for a company

incorporated outside the United Kingdom):

Date of appointment of the joint administrators: 9 October 2024

Details of any changes of administrator: None

Full names of the Joint Administrators: Jonathan P Sumpton

Timothy G Vance

Office holder numbers: 9201 / 26170

Joint Administrators' address: Ernst & Young LLP, 12 Wellington Place, Leeds,

LS1 4AP

Email: ridgewallgroupadministration@uk.ey.com

Name of alternative person to contact with

enquiries about the case:

### Information about the proceedings, the Company and the office holders, as required by Rule 18.3(1) of the Insolvency (England and Wales) Rules 2016

Name of court: High Court of Justice

Business and Properties Court, of England and Wales, Insolvency and Companies List (ChD)

Court reference: CR-2024-LDS-00985

Registered name of the Company: Nomis Connections Limited

Registered office address of the Company: Ernst & Young LLP, 12 Wellington Place, Leeds,

LS1 4AP

Formerly:

Gilmoora House, 57-61 Mortimer Street, London

W1W 8HS

N/A

Registered number: 04759622

Country of incorporation (for a company

incorporated outside the United Kingdom):

Date of appointment of the joint administrators: 9 October 2024

Details of any changes of administrator: None

Full names of the Joint Administrators: Jonathan P Sumpton

Timothy G Vance

Office holder numbers: 9201 / 26170

Joint Administrators' address: Ernst & Young LLP, 12 Wellington Place, Leeds,

LS1 4AP

Email: ridgewallgroupadministration@uk.ey.com

Name of alternative person to contact with

enquiries about the case:

### Information about the proceedings, the Company and the office holders, as required by Rule 18.3(1) of the Insolvency (England and Wales) Rules 2016

Name of court: High Court of Justice

Business and Properties Court, of England and Wales, Insolvency and Companies List (ChD)

Court reference: CR-2024-LDS-000984

Registered name of the Company: Connecting London Limited

Registered office address of the Company: Ernst & Young LLP, 12 Wellington Place, Leeds,

LS1 4AP

Formerly:

Gilmoora House, 57-61 Mortimer Street, London

W1W 8HS

Registered number: 01767644

Country of incorporation (for a company incorporated outside the United Kingdom):

Date of appointment of the joint administrators: 9 October 2024

N/A

Details of any changes of administrator: None

Full names of the Joint Administrators: Jonathan P Sumpton

Timothy G Vance

Office holder numbers: 9201 / 26170

Joint Administrators' address: Ernst & Young LLP, 12 Wellington Place, Leeds,

LS1 4AP

Email: ridgewallgroupadministration@uk.ey.com

Name of alternative person to contact with

enquiries about the case:

### Information about the proceedings, the Company and the office holders, as required by Rule 18.3(1) of the Insolvency (England and Wales) Rules 2016

Name of court: High Court of Justice

Business and Properties Court, of England and Wales, Insolvency and Companies List (ChD)

Court reference: CR-2024-LDS-000988

Registered name of the Company: Telnet International Limited

Registered office address of the Company: Ernst & Young LLP, 12 Wellington Place, Leeds,

LS1 4AP

Formerly:

Gilmoora House, 57-61 Mortimer Street, London

**W1W 8HS** 

N/A

Registered number: 04126435

Country of incorporation (for a company

incorporated outside the United Kingdom):

Date of appointment of the joint administrators: 9 October 2024

Details of any changes of administrator: None

Full names of the Joint Administrators: Jonathan P Sumpton

Timothy G Vance

Office holder numbers: 9201 / 26170

Joint Administrators' address: Ernst & Young LLP, 12 Wellington Place, Leeds,

LS1 4AP

Email: ridgewallgroupadministration@uk.ey.com

Name of alternative person to contact with

enquiries about the case:

# Ridgewall Limited – In Administration Joint Administrators' Summary of Receipts and Payments for the Period

tatement of Affairs		09 October 2024 to 08 April 2025
mated to Realise (£)		(£)
	Floating Charge Receipts	
530 082 00	Book Debts	238,305.22
•	Cash at Bank	24,574.07
•	Stock & Work in Progress	9,000.00
11,514.00	Licence to Occupy Fee	3,950.00
	Plant & Equipment	3,900.00
	Bank Interest	2,098.61
	Business IPR & IT	2,030.01
		1.00
	Customer & Supplier contracts Goodwill	1.00
	Business Records	1.00
	business Records	281,831.90
	Floating Charge Payments	40.000.00
	Joint Administrators' Remuneration	40,000.00
	Pre-Appointment Joint Administrators' Remuneration	22,479.00
	Pre-Appointment Legal Fees & Disbursements	6,911.00
	Legal Fees	2,886.70
	Rent	2,774.80
	Insurance	274.40
	Statutory Advertising	104.30
	Bank Charges	4.80
		75,435.00
	Balances in hand	206,396.90
	Represented by	
	Floating Bank Account	192,155.74
	VAT Receivable	15,031.16
	VAT Payable Account	- 790.00
		206,396.90

- 1. Receipts and payments are stated net of VAT.
- 2. All funds are held in interest bearing accounts.

# QDOS SBL Group Limited – In Administration Joint Administrators' Summary of Receipts and Payments for the Period

Statement of Affairs		09 October 2024 to 08 April 2025
Estimated to Realise(£)		(£)
	Floating Change Bossints	
242.747.00	Floating Charge Receipts	050 500 05
	Book Debts	256,566.35
	Stock/WIP	80,000.00
2,884.00	Cash at Bank	19,955.02
	Bank interest	2,434
	Plant & Equipment	857.00 1.00
	Business IPR & IT	
	Customer & Supplier contracts	1.00
	Goodwill Project Property	1.00
	Business Records	1.00
		359,816.45
	Floating Charge Payments	40.000.00
	Joint Administrators' Remuneration	40,000.00
	Joint Administrators Pre-Appointment Time Costs	20,957.00
	Pre Administration Legal Fees	12,776.80
	Legal Fees	4,975.00
	Insurance	274.40
	Statutory Advertising	104.30
	Bank Charges	1.80
		79,089.30
	Balances in hand	280,727.15
	Downsonted by	
	Represented by	205 040 52
	Floating Bank Account	265,019.53
	VAT Receivable	15,707.62
		280,727.15

- 1. Receipts and payments are stated net of VAT.
- 2. All funds are held in interest bearing accounts.

## Nomis Connections Limited – In Administration Joint Administrators' Summary of Receipts and Payments for the Period

Statement of Affairs Estimated to Realise (£)		09 October 2024 to 08 April 2025 (£)
	Floating Charge Receipts	
52,623.00	Book debts	60,153.63
7,783.00	Stock & Work in Progress	6,000.00
-	Bank interest	227.15
	Plant & Equipment	1.00
	Business IPR & IT	1.00
	Customer & Supplier Contracts	1.00
	Goodwill	1.00
	Business Records	1.00
		66,385.78
	Floating Charge Payments	
	Joint Administrators Pre-Appt Fees	14,017.00
	Joint Administrators Remuneration	10,000.00
	Pre-Appointment Legal Fees & Disbursements	3,672.60
	Post-Appointment Legal Fees	1,361.90
	Insurance	179.20
	Statutory Advertising	104.30
	Bank Charges	1.80
		29,336.80
	Balances in hand	37,048.98
	Represented by	
	Floating Bank Account	31,217.82
	VAT Receivable	5,831.16
		37,048.98

- 1. Receipts and payments are stated net of VAT.
- 2. All funds are held in interest bearing accounts.

# Connecting London Limited – In Administration Joint Administrators' Summary of Receipts and Payments for the Period

Statement of Affairs		09 October 2024 to
		08 April 2025
stimated to Realise (£)		(£)
	Floating Charge Receipts	
42,490.00	Book debts	27,597.34
21,236.00	Cash at bank	21,238.56
	Bank interest	266.87
	Stock & Work in Progress (WIP)	150.00
	Plant & Equipment	1.00
	Business IPR & IT	1.00
	Customer & Supplier contracts	1.00
	Goodwill	1.00
	Business Records	1.00
		49,257.77
	Floating Charge Payments	
	Joint Administrators Pre-Appt Fees	13,370.00
	Joint Administrators Remuneration	10,000.00
	Pre-Appointment Legal Fees & Disbursements	544.30
	Post-Appointment Legal Fees	90.20
	Insurance	179.20
	Statutory Advertising	104.30
	Bank charges	1.50
	•	24,289.50
	Balances in hand	24,968.27
	Data 1886 II Hara	
	Represented by	
	Floating bank account	20,151.51
	VAT receivable	4,816.76
		24,968.27

- 1. Receipts and payments are stated net of VAT.
- 2. All funds are held in interest bearing accounts.

## Telnet International Limited – In Administration Joint Administrators' Summary of Receipts and Payments for the Period

Statement of Affairs stimated to Realise (£)		09 October 2024 to 08 April 2025 (₤)
	Floating Charge Receipts	
4,062.00	Book debts	3,630.73
1,178.00	Cash at bank	1,178.17
	Stock & Work in Progress	70.00
	Bank Interest	29.12
	Plant & Equipment	1.00
	Business IPR & IT	1.00
	Customer & Supplier contracts	1.00
	Goodwill	1.00
	Business Records	1.00
		4,913.02
	Floating Charge Payments	
	Pre-Appointment Legal Fees & Disbursements	544.30
	Legal Fees	90.20
	Insurance	179.20
	Statutory Advertising	104.30
	Bank Charges	1.20
		919.20
	Balances in hand	3,993.82
	Represented by	
	Floating Bank Account	3,851.06
	VAT receivable	142.76
	VALIECEIVADIE	

- 1. Receipts and payments are stated net of VAT.
- 2. All funds are held in interest bearing accounts.

#### Ridgewall Limited - In Administration

#### Summary of Joint Administrators' expenses incurred in the Period

Type of Expense	Per Original Estimate (£)	Paid in Period (£)	Estimated Future (£
Payments made from the estate which are not disbursements (Note 1)	( )	( )	•
Agent's Costs	10,000.00	-	10,000.00
Bank Charges	500.00	4.80	495.20
Insurance	10,000.00	274.40	9,725.60
Legal Costs	25,000.00	2,886.70	22,113.30
Property Exit Costs	5,000.00	-	5,000.00
Property Occupation Costs	5,000.00	2,774.80	2,225.20
Statement of Affairs Fee	2,500.00	-	2,500.00
Statutory Costs	200.00	104.30	95.70
Storage	500.00	-	500.00
Sundry Costs	5,000.00	-	5,000.00
·	63,700.00	6,045.00	57,655.0
	Per Original Estimate		Estimated Future
Category 1 Disbursements (Note 2)	(£)	Period (£)	£)
Specific Penalty Bond	1,000.00	320.00	680.00
Postage & Printing, and Public Notices	2,500.00	21.34	2,478.66
	3,500.00	341.34	3,158.6
Category 2 Disbursements (Note 2)			
Mileage	500.00	-	500.00
	500.00	-	500.00
Total Expenses & Disbursements	67,700.00	6,386.34	61,313.66
Pre-administration costs unpaid as at date of Administration			
Legal Fees	7,790.00	6,911.00	879.00
Agents Fees	700.00	-	700.0
Joint Administrators' Time Costs and Expenses	22,479.00	22,479.00	
•	30,969.00	29,390.00	1,579.0

- 1. Statement of Insolvency Practice No.9 defines expenses as any payments from the insolvency estate which are neither an office holder's remuneration or a distribution to a creditor or member.
- 2. Expenses are divided into those that do not need approval before they are charged to the estate (Category 1) and those that do require prior approval (Category 2):
  - ▶ Category 1 expenses are payments to persons providing the service to which the expense relates who are not an associate of the office holder.
  - Category 2 expenses are payments to associates or which have an element of shared costs.
- 3. Expenses also include disbursements. Disbursements are payments which are first met by the office holder and then reimbursed to the office holder from the estate. Disbursements fall into either Category 1 or Category 2.

#### **QDOS SBL Group Limited – In Administration**

#### Summary of Joint Administrators' expenses incurred in the Period

Type of Expense	Per Original Estimate (£)	Paid in Period (£)	Estimated Future (£)
Payments made from the estate which are not disbursements (Note 1)			
Agent's Costs	10,000.00	-	10,000.00
Bank Charges	500.00	1.80	498.20
Insurance	10,000.00	274.40	9,725.60
Legal Costs	25,000.00	4,975.00	20,025.00
Property Exit Costs	5,000.00	-	5,000.00
Statement of Affairs Fee	2,500.00	-	2,500.00
Statutory Costs	200.00	104.30	95.70
Storage	500.00	-	500.00
Sundry Costs	2,500.00	-	2,500.00
	56,200.00	5,355.50	50,844.50
	Per Original Estimate	Incurred in the	Estimated Future (£)
Category 1 Disbursements (Note 2)	(£)	Period (£)	
Specific Penalty Bond	1,000.00	320.00	680.00
Postage & Printing, and Public Notices	2,500.00	331.04	2,168.96
	3,500.00	651.04	2,848.96
Category 2 Disbursements (Note 2)			
Mileage	500.00	-	500.00
	500.00	-	500.00
Total Expenses & Disbursements	60,200.00	6,006.54	54,193.46
Pre-administration costs unpaid as at date of Administration			
Legal Fees	13,502.00	12,776.80	725.20
Agents Fees	4,000.00	-	4,000.00
Joint Administrators' Time Costs and Expenses	20,957.00	20,957.00	-
	38,459.00	33,733.80	4,725.20

- 1. Statement of Insolvency Practice No.9 defines expenses as any payments from the insolvency estate which are neither an office holder's remuneration or a distribution to a creditor or member.
- 2. Expenses are divided into those that do not need approval before they are charged to the estate (Category 1) and those that do require prior approval (Category 2):
  - ▶ Category 1 expenses are payments to persons providing the service to which the expense relates who are not an associate of the office holder.
  - Category 2 expenses are payments to associates or which have an element of shared costs.
- 3. Expenses also include disbursements. Disbursements are payments which are first met by the office holder and then reimbursed to the office holder from the estate. Disbursements fall into either Category 1 or Category 2.

#### Nomis Connections Limited - In Administration

#### Summary of Joint Administrators' expenses incurred in the Period

Type of Expense	Per Original Estimate (£)	Paid in Period (£)	Estimated Future (£)
Payments made from the estate which are not disbursements (Note 1)			
Bank Charges	100.00	1.80	98.20
Statement of Affairs Fee	250.00	-	250.00
Statutory Costs	100.00	104.30	-
Storage	100.00	-	100.00
Sundry Costs	200.00	-	200.00
Insurance Costs	-	179.20	-
Legal Fees	-	1,361.90	-
	750.00	1,647.20	648.20
	Per Original Estimate	Incurred in the	Estimated Future
Category 1 Disbursements (Note 2)	(£)	Period (£)	(£)
Specific Penalty Bond	50.00	80.00	-
Postage & Printing, and Public Notices	100.00	10.18	89.82
	150.00	90.18	89.82
Total Expenses & Disbursements	900.00	- 1,737.38	738.02
Pre-administration Costs unpaid as			
at date of Administration			
Legal Fees	3,635.00	3,672.60	-
Agents Fees	100.00	-	100.00
Joint Administrators' Time Costs and Expenses	14,017.00	14,017.00	-
	17,752.00	17,689.60	100.00
Total Expenses and unpaid Pre-Administration Costs	18,652.00	19,426.98	838.02

- 1. Statement of Insolvency Practice No.9 defines expenses as any payments from the insolvency estate which are neither an office holder's remuneration or a distribution to a creditor or member.
- 2. Expenses are divided into those that do not need approval before they are charged to the estate (Category 1) and those that do require prior approval (Category 2):
  - ▶ Category 1 expenses are payments to persons providing the service to which the expense relates who are not an associate of the office holder.
  - Category 2 expenses are payments to associates or which have an element of shared costs.
- 3. Expenses also include disbursements. Disbursements are payments which are first met by the office holder and then reimbursed to the office holder from the estate. Disbursements fall into either Category 1 or Category 2.

#### **Connecting London Limited – In Administration**

#### Summary of Joint Administrators' expenses incurred in the Period

Type of Expense	Per Original Estimate (£)	Paid in Period (£)	Estimated Future (£)
Payments made from the estate which are not	(2)	(2)	(2)
disbursements (Note 1)			
Bank Charges	100.00	1.50	98.50
Statement of Affairs Fee	250.00	-	250.00
Statutory Costs	100.00	104.30	-
Storage	100.00	-	100.00
Sundry Costs	200.00	-	200.00
Insurance	-	179.20	-
Legal Costs		90.20	-
	750.00	375.20	648.50
	Per Original Estimate	Incurred in the	Estimated Future
Category 1 Disbursements (Note 2)	(£)	Period (£)	(£)
Specific Penalty bond	50.00	80.00	-
Postage & Printing, and Public Notices	100.00	126.20	-
	150.00	206.20	-
Total Expenses & Disbursements	900.00	581.40	648.50
Pre-administration costs unpaid as			
at date of Administration	540.00	-	
Legal Fees	519.00 100.00	544.30	100.00
Agents Fees		40.070.00	100.00
Joint Administrators' Time Costs and Expenses	13,370.00	13,370.00	-
	13,989.00	13,914.30	100.00
Total Expenses and Pre Administration Costs	14,889.00	14,495.70	748.50

- 1. Statement of Insolvency Practice No.9 defines expenses as any payments from the insolvency estate which are neither an office holder's remuneration or a distribution to a creditor or member.
- 2. Expenses are divided into those that do not need approval before they are charged to the estate (Category 1) and those that do require prior approval (Category 2):
  - ▶ Category 1 expenses are payments to persons providing the service to which the expense relates who are not an associate of the office holder.
  - ▶ Category 2 expenses are payments to associates or which have an element of shared costs.
- 3. Expenses also include disbursements. Disbursements are payments which are first met by the office holder and then reimbursed to the office holder from the estate. Disbursements fall into either Category 1 or Category 2.

#### **Telnet International Limited – In Administration**

#### Summary of Joint Administrators' expenses incurred in the Period

Type of Expense	Per Original Estimate (£)	Paid in Period (£)	Estimated Futur
Payments made from the estate which are not disbursements (Note 1)			
Bank Charges	100.00	1.20	98.8
Statement of Affairs Fee	250.00	-	250.0
Statutory Costs	100.00	104.30	
Storage	100.00	-	100.0
Legal Costs	-	90.20	
Insurance	-	179.20	
Sundry Costs	200.00	-	200.0
	750.00	374.90	648.8
	Per Original Estimate	Incurred in the	Estimated Futur
Category 1 Disbursements (Note 2)	(£)	Period (£)	(
Specific Penalty Bond	50.00	20.00	30.0
Postage & Printing, and Public Notices	100.00	124.53	30.0
rustage & Filling, and Fublic Notices	150.00	144.53	30.0
Total Expenses & Disbursements	900.00	519.43	678.8
Pre-administration costs unpaid as			
at date of Administration			
Legal Fees	519.00	544.30	
Agents Fees	100.00	=	100.0
Joint Administrators' Time Costs and Expenses	13,370.00	-	13,370.0
	13,989.00	544.30	13,470.0
Total Expenses and unpaid Pre-Administration Costs	14,889.00	1,063.73	14,148.8

- 1. Statement of Insolvency Practice No.9 defines expenses as any payments from the insolvency estate which are neither an office holder's remuneration or a distribution to a creditor or member.
- 2. Expenses are divided into those that do not need approval before they are charged to the estate (Category 1) and those that do require prior approval (Category 2):
  - ▶ Category 1 expenses are payments to persons providing the service to which the expense relates who are not an associate of the office holder
  - Category 2 expenses are payments to associates or which have an element of shared costs.
- 3. Expenses also include disbursements. Disbursements are payments which are first met by the office holder and then reimbursed to the office holder from the estate. Disbursements fall into either Category 1 or Category 2.

#### Ridgewall Limited- In Administration

#### Summary of Joint Administrators' time costs incurred in the Period

				Staff Grade						
	Partner	Director	Assistant Director	Manager	Executive	Assistant Executive	Analyst	Total Hours	Total Cost £	Average Rate £
Administration & Planning	0.1	1.0	0.5	8.4	22.4	_	15.4	47.8	27,985,80	585.48
Creditors	15.0	5.5	-	0.8	3.6	_	28.2	53.1	41.895.90	789.00
Debtors	17.0	23.5	_	-	-	_	20.1	60.6	58,769,70	969.80
Investigation & CDDA	8.0	1.0	_	8.5	23.6	_	5.0	46.1	33,928.70	735.98
Immediate Tasks	1.0	-	_	1.5	0.3	_	0.5	3.3	2,870,60	869.88
Job Acceptance & Strategy	1.0	_	_			_		1.0	1.328.00	1,328.00
Legallssues	-	_	_	_	1.0	_	2.0	3.0	1.491.00	497.00
Other Assets	19.5	3.0	_	_	_	_	0.5	23.0	29,562,00	1,285.30
Property	-		_	_	_	_	3.5	3.5	1.617.00	462.00
Reporting	6.0	6.0	_	_	3.5	_	4.0	19.5	18,670,50	957.46
Retention of Title	-	1.0	-	_	-	_	-	1.0	1.145.00	1,145.00
Statutory Duties	4.0	8.0	-	10.0	2.1	-	13.0	37.1	29,278.70	789.18
VAT & Taxation	_	-	_	-	-	-	1.0	1.0	462.00	462.00
Employee Matters	0.1	-	-	1.7	2.6	-	1.0	5.4	3,362.70	622.72
Other Matters	-	-	-	-	-	-	-	-	-	-
Total Hours	71.7	49.0	0.5	30.9	59.1	_	94.2	305.4		
Time Costs (£)	95,217.60	56,105.00	500.00	23,514.90	33,509.70	-	43,520.40	-	252,367.60	
Average Hourly Rate (£)	1,328.00	1,145.00	1,000.00	761.00	567.00	-	462.00		826.35	

#### Comparison of Joint Administrators' time costs to the Fee Estimate

	P	er Fee Estimal	Per Fee Estimate			Actual in this report period			ate
	Total hours	Total costs (£)	Average rate (£)	Total hours	Total costs (£)	Average rate (£)	Total hours	Total costs (£)	Average rate (£)
Administration & Planning	57.0	30,692.00	538.46	47.8	27,985.80	585.48	47.8	27,985.80	585.48
Creditors	34.0	22,221.00	653.56	53.1	41,895.90	789.00	53.1	41,895.90	789.00
Debtors	115.0	86,610.00	753.13	60.6	58,769.70	969.80	60.6	58,769.70	969.80
Investigation & CDDA	25.0	19,795.00	791.80	46.1	33,928.70	735.98	46.1	33,928.70	735.98
Immediate Tasks	22.0	16,765.00	762.05	3.3	2,870.60	869.88	3.3	2,870.60	869.88
Job Acceptance & Strategy	10.0	10,664.00	1,066.40	1.0	1,328.00	1,328.00	1.0	1,328.00	1,328.00
Legallssues	2.5	2,954.00	1,181.60	3.0	1,491.00	497.00	3.0	1,491.00	497.00
Other Assets	0.5	573.00	1,146.00	23.0	29,562.00	1,285.30	23.0	29,562.00	1,285.30
Property	5.0	4,542.00	908.40	3.5	1,617.00	462.00	3.5	1,617.00	462.00
Reporting	78.0	52,514.00	673.26	19.5	18,670.50	957.46	19.5	18,670.50	957.46
Retention of Title	1.5	1,376.00	917.33	1.0	1,145.00	1,145.00	1.0	1,145.00	1,145.00
Statutory Duties	78.0	52,514.00	673.26	37.1	29,278.70	789.18	37.1	29,278.70	789.18
VAT & Taxation	25.0	14,465.00	578.60	1.0	462.00	462.00	1.0	462.00	462.00
Employee Matters	14.0	10,654.00	761.00	5.4	3,362.70	622.72	5.4	3,362.70	622.72
Other Matters	0.5	573.00	1,146.00	-	-	-	-	-	-
Total	468.0	326,911.00	698.53	305.4	252,367.60	826.35	305.4	252,367.60	826.35

#### Note:

#### **Connecting London Limited- In Administration**

#### Summary of Joint Administrators' time costs incurred in the Period

	Staff Grade									
	Partner	Director	Assistant Director	Manager	Executive	Analyst	Total Hours	Total Cost £	Average Rate £	
Administration & Planning	0.1	_	0.8	0.5	18.8	11.7	31.9	17,378.30	£ 544.77	
Creditors	2.0	_	-	-	2.7	2.2	6.9	5.203.30	754.10	
Debtors		2.5	_	_		9.6	12.1	7,297.70	603.12	
Immediate Tasks	_	_	_	0.5	_	0.5	1.0	611.50	611.50	
Investigations & CDDA	-	_	_	4.5	2.9	3.0	10.4	6,454.80	620.65	
Job Acceptance & Strategy	2.0	_	-	_	_	_	2.0	2,656.00	1,328.00	
Reporting	1.0	0.5	_	-	1.8	2.0	5.3	3,845.10	725.49	
Statutory Duties	-	0.5	-	8.8	2.1	7.0	18.4	11,694.00	635.54	
Employee Matters	-	-	-	-	1.0	-	1.0	567.00	567.00	
Legal Issues	-	-	-	-	-	-	-	-	-	
Other Assets	-	-	-	-	-	-	-	-	-	
Other Matters	-	-	-	-	-	-	-	-	-	
VAT & Taxation	-	-	-	-	-	-	-	-	-	
Total Hours	5.1	3.5	0.8	14.3	29.3	36.0	89.0			
Time Costs (£)	6,772.80	4,007.50	800.00	10,882.30	16,613.10	16,632.00	-	55,707.70		
Average Hourly Rate (£)	1,328.00	1,145.00	1,000.00	761.00	567.00	462.00		625.93		

#### Comparison of Joint Administrators' time costs to the Fee Estimate

	Per Fee Estimate			Actua	Actual in this report period			tal actual to da	ate
	Total hours	Total costs (£)	Average rate (£)	Total hours	Total costs (£)	Average rate (£)	Total hours	Total costs (£)	Average rate (£)
Administration & Planning	13.0	7,424.00	571.08	31.9	17,378.30	544.77	31.9	17,378.30	544.77
Creditors	9.0	5,707.00	634.11	6.9	5,203.30	754.10	6.9	5,203.30	754.10
Debtors	21.0	14,483.00	689.67	12.1	7,297.70	603.12	12.1	7,297.70	603.12
Immediate Tasks	12.0	9,900.00	825.00	1.0	611.50	611.50	1.0	611.50	611.50
Investigations & CDDA	7.5	5,264.00	701.87	10.4	6,454.80	620.65	10.4	6,454.80	620.65
Job Acceptance & Strategy	3.5	3,423.00	978.00	2.0	2,656.00	1,328.00	2.0	2,656.00	1,328.00
Reporting	30.0	21,131.00	704.37	5.3	3,845.10	725.49	5.3	3,845.10	725.49
Statutory Duties	32.0	23,421.00	731.91	18.4	11,694.00	635.54	18.4	11,694.00	635.54
Employee Matters	-	-	-	1.0	567.00	567.00	1.0	567.00	567.00
Legal Issues	1.0	1,145.00	1,145.00	-	-	-	-	-	-
Other Assets	1.0	1,145.00	1,145.00	-	-	-	-	-	-
Other Matters	0.5	573.00	1,146.00	-	-	-	-	-	-
VAT & Taxation	9.0	5,524.00	613.78	-	-	-	-	-	-
Total	139.5	99,139.00	710.67	89.0	55,707.70	625.93	89.0	55,707.70	625.93

#### Note:

#### **Nomis Connections Limited – In Administration**

#### Summary of Joint Administrators' time costs incurred in the Period

	Staff Grade								
	Partner	Director	Assistant Director	Manager	Executive	Analyst	Total Hours	Total Cost £	Average Rate £
Administration & Planning	0.1	1.0	0.6	0.5	7.6	10.2	20.0	11,279.90	564.00
Creditors	2.0	2.5	-	-	3.2	4.7	12.4	9,504.30	766.48
Debtors	-	8.0	-	-	-	12.6	20.6	14,981.20	727.24
Immediate Tasks	1.0	-	-	0.5	-	-	1.5	1,708.50	1,139.00
Investigations & CDDA	4.0	1.0	-	4.5	5.2	3.5	18.2	14,446.90	793.79
Job Acceptance & Strategy	1.0	-	-	-	-	-	1.0	1,328.00	1,328.00
Property	-	-	-	-	-	1.0	1.0	462.00	462.00
Reporting	1.0	1.5	-	-	1.8	2.0	6.3	4,990.10	792.08
Statutory Duties	-	2.5	-	7.5	2.1	10.5	22.6	14,611.70	646.54
VAT & Taxation	-	-	-	-	-	1.0	1.0	462.00	462.00
Employee Matters	0.1	-	-	-	2.3	-	2.4	1,436.90	598.71
Legal Issues	-	-	-	-	-	-	-	-	-
Other Assets	-	-	-	-	-	-	-	-	-
Other Matters	-	-	-	-	-	-	-	-	-
Total Hours	9.2	16.5	0.6	13.0	22.2	45.5	107.0		
Time Costs (£)	12,217.60	18,892.50	600.00	9,893.00	12,587.40	21,021.00	-	75,211.50	
Average Hourly Rate (£)	1,328.00	1,145.00	1,000.00	761.00	567.00	462.00		702.91	

#### Comparison of Joint Administrators' time costs to the Fee Estimate

	Pe	r Fee Estima	ate	Actual i	n this repor	t period	Tota	al actual to o	date
	Total hours	Total costs (£)	Average rate (£)	Total hours	Total costs (£)	Average rate (£)	Total hours	Total costs (£)	Average rate (£)
Administration & Planning	13.0	7,424.00	571.08	20.0	11,279.90	564.00	20.00	11,279.90	564.00
Creditors	9.0	5,707.00	634.11	12.4	9,504.30	766.48	12.40	9,504.30	766.48
Debtors	21.0	14,483.00	689.67	20.6	14,981.20	727.24	20.60	14,981.20	727.24
Immediate Tasks	12.0	9,900.00	825.00	1.5	1,708.50	1,139.00	1.50	1,708.50	1,139.00
Investigations & CDDA	7.5	5,264.00	701.87	18.2	14,446.90	793.79	18.20	14,446.90	793.79
Job Acceptance & Strategy	3.5	3,423.00	978.00	1.0	1,328.00	1,328.00	1.00	1,328.00	1,328.00
Property	-	-	-	1.0	462.00	462.00	1.00	462.00	462.00
Reporting	30.0	21,131.00	704.37	6.3	4,990.10	792.08	6.30	4,990.10	792.08
Statutory Duties	32.0	23,421.00	731.91	22.6	14,611.70	646.54	22.60	14,611.70	646.54
VAT & Taxation	9.0	5,524.00	613.78	1.0	462.00	462.00	1.00	462.00	462.00
Employee Matters	-	-	-	2.4	1,436.90	598.71	2.40	1,436.90	598.71
Legal Issues	1.0	1,145.00	1,145.00	-	-	-	-	-	-
Other Assets	1.0	1,145.00	1,145.00	-	-	-	-	-	-
Other Matters	0.5	573.00	1,146.00	-	-	-	-	-	-
Total	139.5	99,139.00	710.67	107.0	75,211.50	702.91	107.0	75,211.50	702.91

#### Note:

#### **QDOS SBL Group Limited – In Administration**

#### Summary of Joint Administrators' time costs incurred in the Period

	Staff Grade									
	Partner	Director	Assistant Director	Manager	Executive	Analyst	Total Hours	Total Cost £	Average Rate	
Administration & Planning	0.1	1.0	0.6	1.5	22.2	12.2	37.6	21,243.10	<b>£</b> 564.98	
Creditors	14.0	5.5	-	-	2.7	14.2	36.4	32,980.80	906.07	
Debtors	10.0	28.0	_	_		30.1	68.1	59,246.20	869.99	
Immediate Tasks	1.0		_	0.5	_	-	1.5	1,708.50	1,139,00	
Investigations & CDDA	6.0	3.0	_	4.5	1.1	4.0	18.6	17,299.20	930.06	
Job Acceptance & Strategy	1.0	-	_	-		-	1.0	1,328.00	1,328.00	
Other Assets	3.5	3.0	_	_	_	0.5	7.0	8.314.00	1,187,71	
Property	-		_	_	_	3.5	3.5	1,617.00	462.00	
Reporting	6.0	6.0	_	_	3.5	4.0	19.5	18,670,50	957.46	
Statutory Duties	4.0	8.0	_	8.0	2.1	13.0	35.1	27,756.70	790.79	
VAT & Taxation	_	_	_	_		0.5	0.5	231.00	462.00	
Employee Matters	_	_	_	_	1.2	_	1.2	680.40	567.00	
Legalissues	-	-	-	_	_	-	_	-	-	
Other Matters	_	_	_	_	-	-	_	-	-	
Retention of Title	-	-	-	-	-	-	-	-	-	
Total Hours	45.6	54.5	0.6	14.5	32.8	82.0	230.0			
Time Costs (£)	60,556.80	62,402.50	600.00	11,034.50	18,597.60	37,884.00	-	191,075.40		
Average Hourly Rate (£)	1,328.00	1,145.00	1,000.00	761.00	567.00	462.00		830.76		

#### Comparison of Joint Administrators' time costs to the Fee Estimate

	Per Fee Estimate			Actua	in this report	period	Total actual to date		
	Total hours	Total costs (£)	Average rate (£)	Total hours	Total costs (£)	Average rate (£)	Total hours	Total costs (£)	Average rate (£)
Administration & Planning	57.0	30,692.00	538.46	37.6	21,243.10	564.98	37.6	21,243.10	564.98
Creditors	44.0	26,841.00	610.02	36.4	32,980.80	906.07	36.4	32,980.80	906.07
Debtors	115.0	86,610.00	753.13	68.1	59,246.20	869.99	68.1	59,246.20	869.99
Immediate Tasks	21.0	15,437.00	735.10	1.5	1,708.50	1,139.00	1.5	1,708.50	1,139.00
Investigations & CDDA	16.5	9,422.00	571.03	18.6	17,299.20	930.06	18.6	17,299.20	930.06
Job Acceptance & Strategy	9.0	9,336.00	1,037.33	1.0	1,328.00	1,328.00	1.0	1,328.00	1,328.00
Other Assets	20.0	13,521.00	676.05	7.0	8,314.00	1,187.71	7.0	8,314.00	1,187.71
Property	2.5	1,497.00	598.80	3.5	1,617.00	462.00	3.5	1,617.00	462.00
Reporting	78.0	52,514.00	673.26	19.5	18,670.50	957.46	19.5	18,670.50	957.46
Statutory Duties	78.0	52,514.00	673.26	35.1	27,756.70	790.79	35.1	27,756.70	790.79
VAT & Taxation	25.0	14,465.00	578.60	0.5	231.00	462.00	0.5	231.00	462.00
Employee Matters	-	-	-	1.2	680.40	567.00	1.2	680.40	567.00
LegalÍssues	2.5	2,954.00	1,181.60	-	-	-	-	-	-
Other Matters	0.5	573.00	1,146.00	-	-	-	-	-	-
Retention of Title	2.0	1,607.00	803.50	-	-	-	-	-	-
Total	471.0	317,982.00	675.12	230.0	191,075.40	830.76	230.0	191,075,40	830.76

#### Note:

#### Telnet International Limited- In Administration

#### Summary of Joint Administrators' time costs incurred in the Period

·									
	Partner	Director	Assistant Director	Manager	Executive	Analyst	Total Hours	Total Cost £	Average Rate £
Administration & Planning	0.1	_	0.6	0.5	17.6	5.2	24.0	13,494.90	562.29
Creditors	2.0	-	-	-	2.6	0.7	5.3	4,453.60	840.30
Debtors	-	2.5	-	-	-	2.6	5.1	4,063.70	796.80
Immediate Tasks	1.0	-	-	0.5	-	-	1.5	1,708.50	1,139.00
Investigations & CDDA	-	-	-	4.5	2.8	3.0	10.3	6,398.10	621.17
Job Acceptance & Strategy	1.0	-	-	-	-	-	1.0	1,328.00	1,328.00
Legal Issues	-	-	-	-	_	0.5	0.5	231.00	462.00
Reporting	1.0	0.5	-	-	1.8	2.0	5.3	3,845.10	725.49
Statutory Duties	-	0.5	-	8.5	2.2	6.0	17.2	11,060.40	643.05
VAT & Taxation	-	-	-	-	-	1.0	1.0	462.00	462.00
Employee Matters	0.1	-	-	-	2.0	-	2.1	1,266.80	603.24
Other Assets	-	-	-	-	-	-	-	-	-
Other Matters	-	-	-	-	-	-	-	-	-
Total Hours	5.2	3.5	0.6	14.0	29.0	21.0	73.3		
Time Costs (£)	6,905.60	4,007.50	600.00	10,654.00	16,443.00	9,702.00	-	48,312.10	
Average Hourly Rate (£)	1,328.00	1,145.00	1,000.00	761.00	567.00	462.00		659.10	

#### Comparison of Joint Administrators' time costs to the Fee Estimate

•	Pe	er Fee Estima	te	Actual	in this report	period	Total actual to date		
	Total hours	Total costs (£)	Average rate (£)	Total hours	Total costs (£)	Average rate (£)	Total hours	Total costs (£)	Average rate (£)
Administration & Planning	13.0	7,424.00	571.08	24.0	13,494.90	562.29	24.0	13,494.90	562.29
Creditors	9.0	5,707.00	634.11	5.3	4,453.60	840.30	5.3	4,453.60	840.30
Debtors	21.0	14,483.00	689.67	5.1	4,063.70	796.80	5.1	4,063.70	796.80
Immediate Tasks	12.0	9,900.00	825.00	1.5	1,708.50	1,139.00	1.5	1,708.50	1,139.00
Investigations & CDDA	7.5	5,264.00	701.87	10.3	6,398.10	621.17	10.3	6,398.10	621.17
Job Acceptance & Strategy	3.5	3,423.00	978.00	1.0	1,328.00	1,328.00	1.0	1,328.00	1,328.00
Legallssues	1.0	1,145.00	1,145.00	0.5	231.00	462.00	0.5	231.00	462.00
Reporting	30.0	21,131.00	704.37	5.3	3,845.10	725.49	5.3	3,845.10	725.49
Statutory Duties	32.0	23,421.00	731.91	17.2	11,060.40	643.05	17.2	11,060.40	643.05
VAT & Taxation	9.0	5,524.00	613.78	1.0	462.00	462.00	1.0	462.00	462.00
Employee Matters	-	-	-	2.1	1,266.80	603.24	2.1	1,266.80	603.24
Other Assets	1.0	1,145.00	1,145.00	-	-	-	-	-	-
Other Matters	0.5	573.00	1,146.00	-	-	-	-	-	-
Total	139.5	99,139.00	710.67	73.3	48,312.10	659.10	73.3	48,312.10	659.10

#### Note:

# Ridgewall Limited ("Ridgewall"), Connecting London Limited ("CLL"), Nomis Connections Limited ("Nomis"), QDOS SBL Limited ("QDOS") and Telnet International Limited ("Telnet") – In Administration

#### Statement of Work Completed in the Period

Outlined in the table below is supporting narrative explanation as to the work undertaken during the Period. The work has been undertaken in respect of all Companies, unless specifically stated. This information is detailed on a category by category basis, aligned to the reporting of time costs in the table at Appendix 4.

The work undertaken can be categorised as either required by the Joint Administrators to fulfil their statutory duties pursuant to the Insolvency Act 1986 and Insolvency (England and Wales) Rules 2016 or to realise assets for the benefit of the creditors.

Basis of work	Category of work	Description of work completed in the Period	Work completed/on going/ to be performed
Statutory	Administration & Planning	<ul> <li>Case management of statutory tasks and compliance. This has included ensuring statutory compliance diaries are completed to reflect work done on the appropriate date.</li> <li>Treasury and accounting functions including: processing payments for services appropriately; processing receipts from asset realisations appropriately; ensuring bank accounts have been reconciled regularly; and, ensuring LTO receipts and payments are reconciled regularly.</li> <li>Time cost reports have been produced for ongoing monitoring and for the purposes of the progress report.</li> <li>Case reviews and general case progression.</li> </ul>	On-going
Statutory	Creditors	▶ Continued correspondence with creditors has progressed through the Period, including responding to various queries, updates on claim status and general interest in process.	On-going
Statutory	Debtors	<ul> <li>Working with the Purchaser to realise the book of debts of the Companies</li> <li>Liaising with banking providers to collect funds and control movement into the Joint Administrators' accounts.</li> </ul>	On-going
Statutory	Employee Matters	<ul> <li>Dealing with ad hoc queries in relation to TUPE transfer.</li> <li>Tasks associated with the Company's pension scheme.</li> </ul>	Completed
Statutory	Investigations & CDDA	▶ Investigations into the Company's affairs in accordance with Statement of Insolvency Practice 2: "Investigations by Office Holders".	Completed

<ul> <li>Making an online sub Conduct Reporting S</li> </ul>	omission to the Director
	Service in accordance with ors Disqualification Act
as required by statut Group's directors, iss notifying the appoint and carrying out othe	following the appointment e, e.g. speaking with the suing correspondence ment, collating information Completed
Asset Job realisations Acceptance & Strategy	the appointment and initial ninistration strategy, nent of and formulating
Asset Other Assets realisations  Task performed on Rid  Collection of deferred discussions with the	On-qoing
Asset Property Task performed on Non	nis, QDOS & Ridgewall:
realisations  Managing the LTO w Landlord.	Completed
	nonthly progress reports ditors, members and On-going
Asset Retention of Task performed on Ridg	gewall: Completed
realisations Title ▶ Responding to Reter	ntion of Title queries.
• •	uding notifications to ers, advertising the ing at Companies House.
Requesting and obtained Affairs from the Direct Aff	ining the Statement of Completed ctors of the Companies.
	<u> </u>
Statutory VAT & Task performed on Non Taxation Ridgewall & Telnet:	nis, CLL, QDOS, On-going

# Ridgewall Limited ("Ridgewall"), Connecting London Limited ("CLL"), Nomis Connections Limited ("Nomis"), QDOS SBL Limited ("QDOS") and Telnet International Limited ("Telnet") (in Administration)

### Statement of Joint Administrators' charging policy for remuneration and disbursements pursuant to Statement of Insolvency Practice No.9

#### Joint Administrators' charging policy for remuneration

The Joint Administrators have engaged managers and other staff to work on the Administration. The work required is delegated to the most appropriate level of staff taking account of the nature of the work and the individual's experience. Additional assistance is provided by accounting and treasury executives dealing with the Company's bank accounts and statutory compliance diaries. Work carried out by all staff is subject to the overall supervision of the Joint Administrators.

All time spent by staff working directly on case-related matters is charged to a time code established specifically for this engagement. Time is recorded in units of six minutes. Each member of staff has a specific hourly rate, which is subject to change over time.

#### Administrators' charging policy for expenses

Statement of Insolvency Practice No. 9 divides expenses into two categories:

- ▶ Category 1 expenses are defined as specific expenditure relating to the Administration of the insolvent's affairs and referable to payment to an independent third party. Such expenses can be paid from the insolvent's assets without approval from the Creditors' Committee or the general body of creditors. In line with Statement of Insolvency Practice No. 9, it is our policy to disclose Category 1 expenses drawn but not to seek approval for their payment. We are prepared to provide such additional information as may reasonably be required to support the expenses drawn.
- ▶ Category 2 expenses are charges made by the office holder's firm that include elements of shared or overhead costs. Statement of Insolvency Practice No. 9 provides that such expenses are subject to approval as if they were remuneration. It is our policy, in line with the Statement, to seek approval for Category 2 expenses before they are drawn.

It is our policy, in line with the Statement, to seek approval for Category 2 disbursements before they are drawn.